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A doubt whether it entered; is "2 — 9770 RS2 PEO

OVERVIEW

The m1wn relates a dispute between X" and the 13127 in the case where one entered a
valley [in the rainy season, when a valley is considered a n&mv% "117] and he is not
certain whether he entered a particular field which contained nX210. The o721
maintain that he is Xav; however X"7 maintains if there is a po0 of ‘entering’, he is
7Y, but if there is a Po0 of ‘touching’ he 1s Xnv. Our NBOIN explains why there is
difference between X2 po0' and 'vin poo'. In addition nvoIn will explain the
dispute between 71271 X"".
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The 5''9 explained that the dispute between X" and the 1127 is concerning a 9''®
in a >"717. The 13127 maintain that in a >"77 even a 0"0 is X1v, while X"7 maintains that only a P90 is

*"1772 X, but not a 0"0.
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And the n''9 explained it likewise; in the last 22 of 'y noon.
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However >''w9 explained the nponn between 731271 X" there in 1"y 'on in a

different manner.
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And it is the view of the >''1 that the reason X''9 is 9;77u% by a ©''® (even though we
derive from 7010 that a po0 is Rnw), it is -
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Because we do not derive from 720 that in ''519 a 790 is N»w® (in all instances,

but rather), only when there is one P59 as the case is by 7W® (where there is only one
»90; whether she was 11117 or not) -

! When there is a 782 90, there are two Np°o0; the first is whether he (even) entered the correct field, and secondly,
even if he entered it, there is an additional P90 whether he came in contact with the R210. In this case X"9 is 7707,
However when there is no 7X°2 90 (he entered the field in which there was 7&mn10), and there is only one ¥ po0
(whether he touched the nXnv or not) X"7 agrees with the 7127 that he is Xnv. The 71127 are Xnwvn in all instances, for
they maintain that in a *"717 even a 0"0 of XMW is XnPvA. See ‘“Thinking it over’.

27 "7 R,y 1", According to *"wA the X" 1121 do not argue about 0"0. There is only one pa0 there by 7vp3,
whether he touched the %m0 or not (for the entire field was &nv). However X"1 differentiates between two types of
mp 0. By a yan 790 where we know that the person and the 7i%n10 were in close proximity (there is no 7X°2 po0) then
XL P00 (as is the case by 10 [there is no X2 pooY; for the man and woman were 7n01 together, there is only a oo
van; if they were 11112]), however where there is a X2 90 as in the case of 7vp2 where we are not certain at all that
the o7X and the 7Xm0 were in close proximity, then a [X@™11] PO0 is N even in a >,
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However we cannot derive from 7110 that even when there are two nIPe20, it is Xnv

(since by 0 there is only one 90. It is possible that if there was a 0"0 by a v, she would be
MY even in °"77).

mooIn explains the rebuttal of the 73127 to X"~:
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And the 72129 maintain that since according to the law, even if there was only
one P2Y, the 7110 should have been 217w, for we should place the 7010 on her npn
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And nevertheless the 7710 disregards her 7770 NP and proclaims her to be Nww;

the same rule therefore applies even by two M99 (since it is apparent that the 770
regards a XMV POO in *"77 as a NHY XT).]

SUMMARY

A 7X°2 P90 is considered a Xp°90 po0. According to X" we can only derive from
700 that a °"7772 RNV POD 1S XMW, not a 0"'D. However, the 0°»on maintain that the
7710 teaches us that any P90 in >"777 1s treated as a *XT.

THINKING IT OVER

It seems from mMoon that the 1327 and X"7 agree that the case of nyp2a is a 0'"0.
Seemingly one can argue that there is only one P50, whether he came in contact
with the %MW or not; why is it considered a 0"0?!

3 Until this incident when she was 77003, she was 75v29 nann.

* She is forbidden to her husband (as if she was 71m *}71).

3 There is no (point in adding a P50 to make it a) 0"0. The first poo is dealt with as a X»nv *X71 (we derive this from
7010), then there is only one additional 750; we already know that a P50 in "7 is designated as a &1 XT), etc, etc.
[See (however) "nX1 1"7 X,0 DO footnote # 3.]
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